etcl         and bases         object         and bases         and bas         and bas         and bas <th></th> <th># Enicodes</th> <th>0/ Enicodos</th> <th># Enicodos</th> <th></th> <th></th> <th></th>											# Enicodes	0/ Enicodos	# Enicodos			
Image         Image <t< th=""><th></th><th># of</th><th>and the second second</th><th>% Episodes</th><th></th><th>% Episodes</th><th></th><th>% Episodes</th><th></th><th>% Episodes</th><th># Episodes Male</th><th>% Episodes Male</th><th># Episodes Female</th><th>% Episodes Female</th><th></th><th></th></t<>		# of	and the second	% Episodes		% Episodes		% Episodes		% Episodes	# Episodes Male	% Episodes Male	# Episodes Female	% Episodes Female		
Ch         L2         S3         S6         S7         S6         S6         S0         D00         D00 <thd00< th=""> <thd00< th=""></thd00<></thd00<>	Title														Network	Studio / Production Co.
Series         O <th></th>																
Bissmoor         10         8.3         4.00         2.0         7.00         0.00 <th< td=""><td>100, The</td><td>12</td><td>6.0</td><td>50.0%</td><td>2.0</td><td>16.7%</td><td>3.0</td><td>25.0%</td><td>1.0</td><td>8.3%</td><td>0.0</td><td>0.0%</td><td>0.0</td><td>0.0%</td><td>CW</td><td>Warner Bros Companies Paramount Pictures</td></th<>	100, The	12	6.0	50.0%	2.0	16.7%	3.0	25.0%	1.0	8.3%	0.0	0.0%	0.0	0.0%	CW	Warner Bros Companies Paramount Pictures
O         D	13 Reasons Why	10	6.0	60.0%	2.0	20.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Corporation
b.1         11         12         4.2         2.2%         5.0         33.8         9.0         2.78         3.0         0.0         0.0%		10	0.0	00.070	2.0	20.070	2.0	20.075	0.0	0.070	0.0	0.070	0.0	0.070		
9 ) J. Same shore         90         5.0         9.00	68 Whiskey	10	7.0	70.0%	0.0	0.0%	3.0	30.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Network	CBS Companies
Absertant800.000.																Disney/ABC Companies
Alace A cole         16         9         9         18.8%         9         9         93.3%         90         00%         00%         00%         Methy         Methy           Angel Obstres, Mar 200         -																Disney/ABC Companies
Alteristic         P																Sony Companies
Apage         Image         Image <t< td=""><td></td><td>10</td><td>3.0</td><td>18.8%</td><td>3.0</td><td>18.8%</td><td>5.0</td><td>31.3%</td><td>5.0</td><td>51.3%</td><td>0.0</td><td>0.0%</td><td>0.0</td><td>0.0%</td><td>INELIIIX</td><td>Netilix</td></t<>		10	3.0	18.8%	3.0	18.8%	5.0	31.3%	5.0	51.3%	0.0	0.0%	0.0	0.0%	INELIIIX	Netilix
Inte         48         5.0         62.9         6.0         0.0%         1.0         0.0%         0.00         0.0%         0.00         0.0%         0.00         0.0%																Paramount Pictures
JAR Number         Job         10.0         50.0%         2.0         10.0%         0.0         0.0%	-	8	5.0	62.5%	0.0	0.0%	3.0	37.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	TNT	Corporation
Anometer any set of the standard set of the	All American	16	4.0	25.0%	8.0	50.0%	2.0	12.5%		12.5%	0.0	0.0%	0.0			Warner Bros Companies
And BP Pradia         3         5.0         100%         0.0         0.0%																Warner Bros Companies
Amote Paradise         3         3.0         100.7%         0.0         0.0%         0.0         0.0%         0.0%         0.0.7%         Non-meta Paradise           Ameed Catolon         8         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0%         0.0%         0.0         0.0         0.0         0.0         0.0	Almost Family	12	6.0	50.0%	0.0	0.0%	3.0	25.0%	3.0	25.0%	0.0	0.0%	0.0	0.0%	FOX	NBC Universal
Attend Cohon         8         4.0         50.0%         0.0         0.0%         0.0         0.0%         0.0%         0.0%         Netflike         Section           With Tik, I         8         8.00         100.0%         0.0         0.0%         0.	Almost Paradiso	2	2.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	MGN Amorica	Electric Global Holdings, Inc.
An No Doky         P																Skydance Pictures, LLC
With This, I.a.         8         8.0         1000%         0.0         0.0%         0.0         0.0%         0.0         0.0%         Note: Action of the second of the		0	1.0	30.070	0.0	0.070	2.0	23.070	2.0	23.070	0.0	0.070	0.0	0.070		
American         -<	•	8	8.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
thornerscore         9         0.0         0.0%         0.0%         0.0         0.0%         0.0         0.0%         K         Description           thousewife         21         8.0         33.1%         0.0         0.0%		10	5.0	50.0%	2.0	20.0%	2.0	20.0%	0.0	0.0%	1.0	10.0%	0.0	0.0%	Starz	Fremantle Productions, Inc.
American         v         B<							_									
Housewife         21         8.0         38.1%         3.0         14.3%         8.0         3.1%         0.0         0.0%         1.0         4.8%         1.0         4.8%         1.0         4.8%         1.0         5.0         0.0%         0.0%         0.0         0.0%	•	9	4.0	44.4%	0.0	0.0%	5.0	55.6%	0.0	0.0%	0.0	0.0%	0.0	0.0%	FX	Disney/ABC Companies
America Soul         8         2.0         2.5 %         4.0         50.0%         0.0%         0.0%         2.0         2.5 %         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         Note		21	8.0	38.1%	3.0	1/1 2%	8.0	38 1%	0.0	0.0%	1.0	1.8%	1.0	1.8%	ARC	Disney/ABC Companies
Animal Kngdom         13         5.0         38.5%         3.0         23.1%         4.0         30.8%         1.0         7.7%         0.0         0.0%         0.0         0.0%         Th         Warne Manne Markey           Anna Delway         9         4.0         44.4%         0.0         0.0%         3.0         33.3%         2.0         22.2%         0.0         0.0%         0.0         0.0%         Are Yo           Are You         7         1.0         14.4%         2.0         28.6%         4.0         57.1%         0.0         0.0%																JCE Films, Inc.
Anna Delvey         9         4.0         44.4%         0.0         0.0%         3.3         2.0         22.2%         0.0         0.0%         0.0%         Mark Netting           Are You Aradia         -         -         -         -         -         -         Are You           Are You Aradia         - <td></td> <td>Warner Bros Companies</td>																Warner Bros Companies
of the Dark?         3         3.0         100.0%         0.0         0.0%	-	9			0.0			33.3%	2.0	22.2%			0.0		Netflix	Netflix
Arrow         7         1.0         14.3%         2.0         28.6%         4.0         57.1%         0.0         0.0%         0.0         0.0%         CW         Warne           Arroy Sedaris         10         9.0         90.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         1.0         10.0%         0.0         0.0%         1.0         10.0%         0.0         0.0%         1.0         10.0%         0.0         0.0%         1.0         10.0%         Nettik         Netik         Netik         Netik																Are You Afraid
At Home with Any Sedaris         10         9.0         9.0         0.0         0.0% </td <td></td> <td>-</td> <td></td> <td>Productions, LLC</td>		-														Productions, LLC
Amy Searis         10         9.0         9.0.%         0.0         0.0%         1.0         1.0.0%         0.0         0.0%         1.0         1.0.0%         0.0         0.0%         1.0         1.0.0%         0.0         0.0%         1.0         1.0.0%         0.0         0.0%         1.0         1.0.0%         0.0         0.0%         1.0         1.0.0%         0.0         0.0%         1.0         1.0.0%         0.0         0.0%         1.0         1.0.0%         0.0         0.0%         1.0         1.0.0%         0.0         0.0%         0.0         0.0%         Netflix         Net		/	1.0	14.3%	2.0	28.6%	4.0	57.1%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CW	Warner Bros Companies Turner Entertainment
Atypical         10         3.0         30.0%         2.0         20.0%         4.0         40.0%         0.0         0.0%         0.0         0.0%         1.0         10.0%         Netfix         Sony C           Awawa fina is Nora         -         -         -         -         -         Corredy           From Outeens         9         0.5         5.6%         1.5         16.7%         4.0         44.0%         2.0         22.2%         0.0         0.0%         0.0         0.0%         Netfix         NBC U           Adwardina is Nora         -         -         -         -         -         Corredy         Corredy         Corredy         Viacon           Baby-Sitter Club,         -         <		10	9.0	90.0%	0.0	0.0%	0.0	0.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	truTV	Networks, Inc.
Away         10         5.0         50.0%         0.0         0.0%         4.0         40.0%         1.0         10.0%         0.0         0.0%         Netflix         NBC U           Awkwafina is Nora         -         -         -         -         -         Corredy         Vacon           Baber and the Beauxy         -																Sony Companies
From Queens         9         0.5         5.6%         1.5         16.7%         4.0         44.4%         2.0         22.2%         0.0         0.0%         1.0         11.1%         Central         Viacon           Baby-Sitters Club, The         0         2.0         20.0%         1.0         10.0%         4.0         40.0%         30.0%         30.0%         0.0         0.0%         0.0         0.0%         Methy         Walde           Baby-Sitters Club, The         8         2.0         25.0%         3.0         37.5%         3.0         37.5%         0.0         0.0%         0.0         0.0%         0.0         0.0%         ABC         NBCU           Balers and the Beauty, The         8         4.0         50.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%		10	5.0	50.0%	0.0			40.0%	1.0			0.0%	0.0			NBC Universal
Baby-Sitters Club, The         2.0         20.0%         1.0         10.0%         4.0         40.0%         3.0         30.0%         0.0         0.0%         0.0         Netfix         Walde           Baker and the Beauty, The         8         2.0         25.0%         3.0         37.5%         3.0         37.5%         0.0         0.0%         0.0         0.0%         0.0         0.0%         ABC         NRE UI           Ballers         8         4.0         50.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         ABC         NRE UI           Ballers         8         4.0         50.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         ABC         NRE UI           Ballers         8         5.0         62.5%         1.0         12.5%         2.0         25.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         Componition         National Geographic         Geographic         Geographic         Sintainal         Geographic         Sintainal         Geographic         Sintainal         Geographic         Sintainal         Geographic         Sintainal         Geographic         Sintainal <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>· ·</td><td></td></td<>															· ·	
The         10         2.0         20.0%         1.0         10.0%         4.0         40.0%         3.0         30.0%         0.0         0.0%         0.0%         Netfix         Water           Bake rand the Beauty, The         8         2.0         25.0%         3.0         37.5%         3.0         37.5%         0.0         0.0%         0.0         0.0%         0.0%         0.0         0.0%         ABC         NBC U           Ballers         8         4.0         50.0%         0.0         37.5%         3.0         37.5%         0.0         0.0%         0.0		9	0.5	5.6%	1.5	16.7%	4.0	44.4%	2.0	22.2%	0.0	0.0%	1.0	11.1%	Central	Viacom Media Networks
Baker and the Beauty, The         8         2.0         25.0%         3.0         37.5%         3.0         37.5%         0.0         0.0%         0.0         0.0%         0.0         0.0%         ABC         NBC U           Ballers         8         4.0         50.0%         0.0         0.0%         4.0         50.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         ABC         NBC U           Ballers         8         4.0         50.0%         0.0         0.0%         4.0         50.0%         0.0         0.0%         0.0 <th< td=""><td>•</td><td>10</td><td>2.0</td><td>20.0%</td><td>1.0</td><td>10.0%</td><td>4.0</td><td>40.0%</td><td>2.0</td><td>20.0%</td><td>0.0</td><td>0.0%</td><td>0.0</td><td>0.0%</td><td>Notfliv</td><td>Walden Media, LLC</td></th<>	•	10	2.0	20.0%	1.0	10.0%	4.0	40.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Notfliv	Walden Media, LLC
The         8         2.0         25.0%         3.0         37.5%         3.0         37.5%         0.0         0.0%         0.0         0.0%         0.0         0.0%         ABC         NBC U           Ballers         8         4.0         50.0%         0.0         0.0%         4.0         50.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         MBC U           Ballers         8         4.0         50.0%         0.0         0.0%         0.0		10	2.0	20.0%	1.0	10.0%	4.0	40.0%	5.0	50.0%	0.0	0.0%	0.0	0.0%	Netnix	
Ballers         8         4.0         50.0%         0.0         0.0%         4.0         50.0%         0.0         0.0% <th< td=""><td>• *</td><td>8</td><td>2.0</td><td>25.0%</td><td>3.0</td><td>37.5%</td><td>3.0</td><td>37.5%</td><td>0.0</td><td>0.0%</td><td>0.0</td><td>0.0%</td><td>0.0</td><td>0.0%</td><td>ABC</td><td>NBC Universal</td></th<>	• *	8	2.0	25.0%	3.0	37.5%	3.0	37.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	ABC	NBC Universal
Barkskins         8         5.0         62.5%         1.0         12.5%         2.0         25.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0	Ballers	8	4.0	50.0%	0.0	0.0%	4.0	50.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
Barkskins         8         5.0         62.5%         1.0         12.5%         2.0         25.0%         0.0         0.0%         0.0         0.0% <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>																
Baskets         10         10.0         100.0%         0.0         0.0%         <			5.0	62 50(	1.0	12 50/	2.0	25.00/		0.001		0.001		0.00/		
Batwoman         14         7.0         50.0%         3.0         21.4%         4.0         28.6%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%																Disney/ABC Companies
Better Call Saul         10         7.0         70.0%         1.0         10.0%         2.0         20.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         AMC         Sony C           Better Things         10         0.0         0.0%         0.0         0.0%         10.0         100.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         KMC         Sony C           Better Things         10         0.0         0.0%         10.0         10.0%         0.0         0.0%         0.0         0.0%         0.0         0.0%         KMC         Sony C           Betty         6         0.0         0.0%         0.0%         0.0																Disney/ABC Companies Warner Bros Companies
Better Things         10         0.0         0.0%         0.0         10.0%         10.0         0.0%         0.0         0.0%         0.0         0.0%         FX         Diskey           Betty         6         0.0         0.0%         0.0         0.0%         6.0         100.0%         0.0         0.0%         0.0         0.0%         FX         Diskey           Betty         6         0.0         0.0%         0.0         0.0%         6.0         100.0%         0.0         0.0%																Sony Companies
BH 90210       6       2.0       33.3%       1.0       16.7%       3.0       50.0%       0.0       0.0%																Disney/ABC Companies
Big Shot         10         6.0         60.0%         1.0         10.0%         20.0%         1.0         10.0%         0.0%         0.0%         0.0%         Disney+         Disney+           Big Show Show,         -<																Home Box Office, Inc.
Big Show Show, The       10       2.0       20.0%       5.0       50.0%       2.0       20.0%       1.0       10.0%       0.0       0.0%       0.0%       Netflix       Netflix         Bigger       10       0.0       0.0%       6.0       60.0%       0.0       0.0%       0.0       0.0%       0.0%       BET+       TBA Pr         Image: Show Show, The contract of the con																CBS Companies
The       10       2.0       20.0%       5.0       50.0%       2.0       20.0%       1.0       10.0%       0.0%       0.0%       0.0%       Netflix         Bigger       10       0.0       0.0%       6.0       60.0%       0.0%       0.0%       4.0       40.0%       0.0       0.0%       0.0%       BET+       TBA Pr         Image: Comparison of the state o		10	6.0	60.0%	1.0	10.0%	2.0	20.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	Disney+	Disney/ABC Companies
Bigger         10         0.0         0.0%         6.0         60.0%         0.0%         4.0         40.0%         0.0         0.0%         0.0%         BET+         TBA Pr           Image: Comparison of the state o	-	10	2 0	20.0%	5.0	50.0%	20	20.0%	10	10.0%	0.0	0.0%	0.0	0.0%	Netfliv	Netflix
Showti																TBA Productions, Inc.
Billions         12         8.0         66.7%         1.0         8.3%         2.0         16.7%         0.0         0.0%         0.0%         1.0         8.3%         Showtime         Develo														,		Showtime Pictures
	Billions	12	8.0	66.7%	1.0	8.3%	2.0	16.7%	0.0	0.0%	0.0	0.0%	1.0	8.3%	Showtime	Development Company
																Warner Bros Companies
	•															Sony Companies
																Netflix
																Disney/ABC Companies Sony Companies
																Disney/ABC Companies

								Director inclusion r		,					
		# Episodes		# Episodes		# Episodes		# Episodes		# Episodes	% Episodes	# Episodes	% Episodes		
Title	# of	Male	% Episodes	Males of	% Episodes	Female	% Episodes	Females of	% Episodes	Male	Male	Female	Female	Network	Studio / Production Co.
THE	Eps.	Caucasian	Male Caucasian	Color	Males of Color	Caucasian	Female Caucasian	Color	Females of Color	Unknown/	Unknown/	Unknown/	Unknown/	Network	Studie / Houdetion co.
					0.00/				10.000	Unreported	Unreported	Unreported	Unreported		
Blindspot	11	5.0	45.5%	0.0	0.0%	4.0	36.4%	2.0	18.2%	0.0	0.0%	0.0	0.0%	NBC	Warner Bros Companies
Blood & Treasure Blue Bloods	13 20	5.0 11.0	38.5% 55.0%	2.0 5.0	15.4% 25.0%	4.0	30.8% 15.0%	0.0	0.0% 5.0%	2.0 0.0	15.4% 0.0%	0.0	0.0%		CBS Companies CBS Companies
Bluff City Law	9	5.0	55.6%	1.0	11.1%	1.0	11.1%	2.0	22.2%	0.0	0.0%	0.0	0.0%	NBC	NBC Universal
Bob Hearts	5	5.0	55.070	1.0	11.170	1.0	11.170	2.0	22.270	0.0	0.076	0.0	0.078	NDC	
Abishola	19	0.0	0.0%	0.0	0.0%	19.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CBS	Warner Bros Companies
Bold Type, The	18	2.0	11.1%	5.0	27.8%	9.0	50.0%	2.0	11.1%	0.0	0.0%	0.0	0.0%	Freeform	NBC Universal
															Paramount Pictures
Boomerang	8	0.0	0.0%	0.0	0.0%	0.0	0.0%	8.0	100.0%	0.0	0.0%	0.0	0.0%	BET	Corporation
Bosch	10	4.0	40.0%	2.0	20.0%	3.0	30.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	Amazon	Hold Fast Productions LLC
Boys, The	8	5.0	62.5%	1.0	12.5%	2.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Amazon	Sony Companies
Brand New															
Cherry Flavor	8	5.0	62.5%	0.0	0.0%	1.0	12.5%	2.0	25.0%	0.0	0.0%	0.0	0.0%	Netflix	NBC Universal
Brave New World	7	4.0	57.1%	2.0	28.6%	1.0	14.3%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Peacock	NBC Universal
Brews Brothers	8	6.0	75.0%	0.0	0.0%	1.0	12.5%	0.0	0.0%	0.0	0.0%	1.0	12.5%	Netflix	Netflix
Briarpatch	9	5.0	55.6%	0.0	0.0%	4.0	44.4%	0.0	0.0%	0.0	0.0%	0.0	0.0%	USA Network	NBC Universal
Brockmire	8	0.0	0.0%	8.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	IFC	Funny or Die Media, Inc.
Broke	12	1.0	8.3%	9.0	75.0%	2.0	16.7%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CBS	CBS Companies
Brooklyn Ning Ning	10	6.0	46.2%	1.0	7 70/	4.0	20.00/	2.0	1 - 40/	0.0	0.0%	0.0	0.00/		
Nine-Nine Bull	13 21	6.0 11.0	46.2%	1.0 3.0	7.7%	4.0	30.8% 33.3%	2.0	15.4% 0.0%	0.0	0.0%	0.0	0.0%		NBC Universal CBS Companies
bull	21	11.0	J2.470	5.0	14.570	7.0	55.570	0.0	0.076	0.0	0.076	0.0	0.076	Disney	
Bunk'd	25	5.0	20.0%	7.0	28.0%	10.0	40.0%	2.0	8.0%	1.0	4.0%	0.0	0.0%	Channel	Disney/ABC Companies
	23	5.0	20.070	7.0	20.070	10.0	40.070	2.0	0.070	1.0	4.070	0.0	0.070		Legendary Pictures
Carnival Row	8	4.0	50.0%	0.0	0.0%	2.0	25.0%	0.0	0.0%	2.0	25.0%	0.0	0.0%	Amazon	Funding, LLC
Carol's Second Act	17	3.0	17.6%	1.0	5.9%	10.0	58.8%	3.0	17.6%	0.0	0.0%	0.0	0.0%	CBS	CBS Companies
Castle Rock	10	6.0	60.0%	1.0	10.0%	3.0	30.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Hulu	Warner Bros Companies
Charmed	20	11.0	55.0%	4.0	20.0%	5.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CW	CBS Companies
Cherish the Day	8	0.0	0.0%	2.0	25.0%	2.0	25.0%	4.0	50.0%	0.0	0.0%	0.0	0.0%	OWN	Warner Bros Companies
Chi, The	10	0.0	0.0%	3.0	30.0%	0.0	0.0%	7.0	70.0%	0.0	0.0%	0.0	0.0%	Showtime	Disney/ABC Companies
Chicago Fire	20	5.0	25.0%	10.0	50.0%	4.0	20.0%	1.0	5.0%	0.0	0.0%	0.0	0.0%	NBC	NBC Universal
Chicago Med	20	12.0	60.0%	1.0	5.0%	4.0	20.0%	2.0	10.0%	0.0	0.0%	1.0	5.0%	NBC	NBC Universal
Chicago P.D.	20	7.0	35.0%	10.0	50.0%	2.0	10.0%	1.0	5.0%	0.0	0.0%	0.0	0.0%	NBC	NBC Universal
Chilling Adventures									/						
of Sabrina, The	16	6.0	37.5%	6.0	37.5%	3.0	18.8%	1.0	6.3%	0.0	0.0%	0.0	0.0%	Netflix	Warner Bros Companies
City on a Uill	0	5.0		2.0	22.20/	2.0	22.20/	0.0	0.00/	0.0	0.0%	0.0	0.00/	Chauting	Showtime Pictures
City on a Hill	9	5.0	55.6%	2.0	22.2%	2.0	22.2%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Showtime	Development Company
Clickbait	4	2.0	50.0%	0.0	0.0%	2.0	50.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix Youtube	NBC Universal
Cobra Kai	10	4.0	40.0%	4.0	40.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Premium	Sony Companies
	10	4.0	40.070	4.0	40.070	2.0	20.070	0.0	0.078	0.0	0.070	0.0	0.078	Audience	MGM Television
Condor	10	6.0	60.0%	0.0	0.0%	4.0	40.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Network	Entertainment Inc.
Conners, The	20	6.0	30.0%	0.0	0.0%	14.0	70.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	ABC	Imagine Entertainment
Coop and Cami														Disney	
Ask The World	28	9.0	32.1%	4.0	14.3%	10.0	35.7%	5.0	17.9%	0.0	0.0%	0.0	0.0%	Channel	Disney/ABC Companies
Council of Dads	9	5.0	55.6%	2.0	22.2%	0.0	0.0%	2.0	22.2%	0.0	0.0%	0.0	0.0%	NBC	NBC Universal
Cowboy Bebop	10	4.0	40.0%	6.0	60.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
														Paramount	
Coyote	7	4.0	57.1%	1.0	14.3%	2.0	28.6%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Network	Sony Companies
Creepshow	6	5.0	83.3%	0.0	0.0%	1.0	16.7%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Shudder	Cartel Entertainment, LLC
Cursed	2	0.0	0.0%	0.0	0.0%	0.0	0.0%	2.0	100.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Dare Me	9	2.0	22.2%	1.0	11.1%	5.0	55.6%	1.0	11.1%	0.0	0.0%	0.0	0.0%	USA Network	NBC Universal
Dash & Lily	8	6.0	75.0%	0.0 3.0	0.0%	2.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix Disney/ABC Companies
Dave Dead to Me	9 10	6.0 0.0	66.7% 0.0%	3.0 0.0	33.3% 0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%		CBS Companies
	10	0.0	0.0%	0.0	0.0%	10.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	INCLINA	Paramount Pictures
Defending Jacob	8	8.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Apple TV+	Corporation
	0	0.0	100.070	0.0	0.070	0.0	0.070	0.0	0.070	0.0	0.070	0.0	0.070		Entertainment One
Deputy	12	7.0	58.3%	1.0	8.3%	3.0	25.0%	0.0	0.0%	1.0	8.3%	0.0	0.0%	FOX	Television USA Inc.
Deuce, The	8	4.0	50.0%	0.0	0.0%	1.0	12.5%	3.0	37.5%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
Diary of a				-		-									,
, Future President	10	0.0	0.0%	2.0	20.0%	6.0	60.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Disney+	CBS Companies
Dickinson	10	4.0	40.0%	0.0	0.0%	6.0	60.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Apple TV+	wiip Productions, LLC
	-														

	١
-	)

						2			Report (BY SHOW 11						
				# Entrada a		# Entrador				# Episodes	% Episodes	# Episodes	% Episodes		
Title	# of	# Episodes Male	% Episodes	# Episodes Males of	% Episodes	# Episodes Female	% Episodes	# Episodes Females of	% Episodes	Male	Male	Female	Female	Network	Studio / Production Co.
Intie	Eps.	Caucasian	Male Caucasian	Color	Males of Color	Caucasian	Female Caucasian	Color	Females of Color	Unknown/	Unknown/	Unknown/	Unknown/	Network	Studio / Production Co.
										Unreported	Unreported	Unreported	Unreported		
Dirty John	8	0.0	0.0%	0.0	0.0%	7.0	87.5%	1.0	12.5%	0.0	0.0%	0.0	0.0%	USA Network	NBC Universal
Dispatches			70.00/		0.00/		22.201		10.00/		0.00/		0.00/		
from Elsewhere	10	7.0	70.0%	0.0	0.0%	2.0	20.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	AMC	AMC TV Studios LLC
Divorce Dollface	6 10	0.0	0.0%	0.0	0.0%	5.0 6.0	83.3% 60.0%	1.0 0.0	16.7% 0.0%	0.0	0.0% 0.0%	0.0	0.0%	HBO Hulu	Home Box Office, Inc.
Doom Patrol	10	4.0 4.0	40.0%	2.0	20.0%	4.0	40.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	DC Universe	Disney/ABC Companies Warner Bros Companies
Dwight in	10	4.0	40.076	2.0	20.076	4.0	40.070	0.0	0.078	0.0	0.070	0.0	0.076	De oniverse	Warner bros companies
Shining Armor	20	20.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	ΒΥU ΤV	Swirl Films LLC
Dynasty	20	6.0	30.0%	5.0	25.0%	8.0	40.0%	0.0	0.0%	0.0	0.0%	1.0	5.0%		CBS Companies
Eddy, The	6	4.0	66.7%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	2.0	33.3%	Netflix	Netflix
Emergence	12	7.0	58.3%	1.0	8.3%	2.0	16.7%	2.0	16.7%	0.0	0.0%	0.0	0.0%	NBC	Disney/ABC Companies
														Paramount	
Emily In Paris	10	8.0	80.0%	0.0	0.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Network	Imagine Entertainment
Empire	20	2.0	10.0%	8.0	40.0%	0.0	0.0%	9.0	45.0%	1.0	5.0%	0.0	0.0%	FOX	Disney/ABC Companies
Everything's Gonna															
Be Okay	9	5.0	55.6%	0.0	0.0%	4.0	44.4%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Freeform	Avalon Television, Inc.
Evil	12	8.0	66.7%	2.0	16.7%	2.0	16.7%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CBS	CBS Companies
Expanding Universe	4.0	6.6	27 50/	4.0	6.201	6.0	27 504	2.0	40.000	0.0	0.001	0.0	0.001		Notflin
of Ashley Garcia, The	16	6.0	37.5%	1.0	6.3%	6.0	37.5%	3.0	18.8%	0.0	0.0%	0.0	0.0%	Netflix	Netflix Alcon Television
Expanse, The	10	7.0	70.0%	1.0	10.0%	0.0	0.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Amazon	Alcon Television Group, LLC
F.B.I.	20	12.0	60.0%	3.0	15.0%	3.0	15.0%	2.0	10.0%	0.0	0.0%	0.0	0.0%	CBS	NBC Universal
Faces	8	0.0	0.0%	8.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Apple TV+	Warner Bros Companies
	0	0.0	0.070	0.0	100.070	0.0	0.070	0.0	0.070	0.0	0.070	0.0	0.070		MGM Television
Fargo	11	3.0	27.3%	6.0	54.5%	2.0	18.2%	0.0	0.0%	0.0	0.0%	0.0	0.0%	FX	Entertainment Inc.
FBI: Most Wanted	15	10.0	66.7%	0.0	0.0%	3.0	20.0%	2.0	13.3%	0.0	0.0%	0.0	0.0%	CBS	NBC Universal
Fear the Walking Dead	16	9.0	56.3%	3.0	18.8%	2.0	12.5%	2.0	12.5%	0.0	0.0%	0.0	0.0%	AMC	AMC TV Studios LLC
Filthy Rich	9	6.0	66.7%	1.0	11.1%	2.0	22.2%	0.0	0.0%	0.0	0.0%	0.0	0.0%	FOX	Disney/ABC Companies
Firefly Lane	6	4.0	66.7%	0.0	0.0%	2.0	33.3%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Flash, The	14	6.0	42.9%	5.0	35.7%	3.0	21.4%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CW	Warner Bros Companies
Flight Attendant,															
The	8	3.0	37.5%	3.0	37.5%	2.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	HBO Max	Warner Bros Companies
For All Mankind	10	4.0	40.0%	2.0	20.0%	2.0	20.0%	2.0 2.0	20.0%	0.0	0.0%	0.0	0.0%	Apple TV+	Sony Companies
For Life Foundation	12 10	6.0 6.0	50.0% 60.0%	2.0	16.7% 0.0%	2.0	16.7% 0.0%	4.0	16.7% 40.0%	0.0	0.0%	0.0	0.0%	ABC Apple TV+	Sony Companies Skydance Pictures, LLC
Fresh Off the Boat	10	4.0	26.7%	3.0	20.0%	2.0	13.3%	4.0	26.7%	0.0	0.0%	2.0	13.3%	ABC	Disney/ABC Companies
Fuller House	13	13.0	72.2%	0.0	0.0%	5.0	27.8%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Warner Bros Companies
Future Man	8	8.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Hulu	Sony Companies
														National	
														Geographic	
Genius	8	0.0	0.0%	5.0	62.5%	0.0	0.0%	3.0	37.5%	0.0	0.0%	0.0	0.0%	Channel	Disney/ABC Companies
Gentefied	10	0.0	0.0%	4.0	40.0%	0.0	0.0%	6.0	60.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
															MGM Television
Get Shorty	7	7.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Epix	Entertainment Inc.
Ginny & Georgia	4	0.0	0.0%	0.0	0.0%	0.0	0.0%	4.0	100.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
God Friended Me	22	4.0	18.2%	11.0	50.0%	4.0	18.2%	2.0	9.1%	1.0	4.5%	0.0	0.0%	CBS	Warner Bros Companies
Goldbergs, The	24	13.0	54.2%	4.0	16.7%	6.0	25.0%	0.0	0.0%	0.0	0.0%	1.0	4.2%	ABC	Sony Companies
Good Doctor, The	20	11.0	55.0%	3.0	15.0%	5.0	25.0%	1.0	5.0%	0.0	0.0%	0.0	0.0%	ABC CBS	Sony Companies
Good Fight The	0	4.0	EO 00/	1.0	10 50/	2.0	27 50/	0.0	0.00/	0.0	0.00/	0.0	0.00/		CPS Companies
Good Fight, The Good Girls	8 13	4.0 9.0	50.0% 69.2%	1.0 0.0	12.5% 0.0%	3.0 3.0	37.5% 23.1%	0.0	0.0% 0.0%	0.0	0.0% 0.0%	0.0	0.0% 7.7%	All Access NBC	CBS Companies NBC Universal
Good Lord Bird,	12	5.0	09.2%	0.0	0.0%	5.0	23.170	0.0	0.0%	0.0	0.0%	1.0	1.170	NBC	
The	8	1.0	12.5%	4.0	50.0%	1.0	12.5%	1.0	12.5%	0.0	0.0%	1.0	12.5%	Showtime	BH Bird, Inc.
Good Place, The	14	7.0	50.0%	0.0	0.0%	5.0	35.7%	1.0	7.1%	0.0	0.0%	1.0	7.1%	NBC	NBC Universal
Good Trouble	18	8.0	44.4%	2.0	11.1%	6.0	33.3%	2.0	11.1%	0.0	0.0%	0.0	0.0%	Freeform	Disney/ABC Companies
Grace and Frankie	13	3.0	23.1%	3.0	23.1%	6.0	46.2%	1.0	7.7%	0.0	0.0%	0.0	0.0%		Skydance Pictures, LLC
Grand Army	10	2.0	20.0%	2.0	20.0%	0.0	0.0%	6.0	60.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Great, The	7	3.0	42.9%	0.0	0.0%	2.0	28.6%	2.0	28.6%	0.0	0.0%	0.0	0.0%	Hulu	MRC II Holdings, L.P.
Greenleaf	18	2.0	11.1%	8.0	44.4%	2.0	11.1%	5.0	27.8%	1.0	5.6%	0.0	0.0%	OWN	Lions Gate
Grey's Anatomy	22	9.0	40.9%	3.0	13.6%	3.0	13.6%	7.0	31.8%	0.0	0.0%	0.0	0.0%	ABC	Disney/ABC Companies
Grown-ish	17	2.0	11.8%	7.0	41.2%	2.0	11.8%	5.0	29.4%	0.0	0.0%	1.0	5.9%	Freeform	Disney/ABC Companies

	١
-	)

							020 DGA Episodic TV			,					
		# Episodes		# Episodes		# Episodes		# Episodes		# Episodes	% Episodes	# Episodes	% Episodes		
Title	# of	Male	% Episodes	Males of	% Episodes	Female	% Episodes	Females of	% Episodes	Male	Male	Female	Female	Network	Studio / Production Co.
	Eps.	Caucasian	Male Caucasian	Color	Males of Color	Caucasian	Female Caucasian	Color	Females of Color	Unknown/	Unknown/	Unknown/	Unknown/		
Haunting of										Unreported	Unreported	Unreported	Unreported		Paramount Pictures
Bly Manor, The	5	4.0	80.0%	0.0	0.0%	1.0	20.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Corporation
Hawaii Five-O	22	10.0	45.5%	4.0	18.2%	3.0	13.6%	5.0	22.7%	0.0	0.0%	0.0	0.0%	CBS	CBS Companies
Healing Powers															
of Dude, The	8	5.0	62.5%	1.0	12.5%	0.0	0.0%	2.0	25.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
High Fidelity	10	7.0	70.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	1.0	10.0%	Hulu	Disney/ABC Companies
High Maintenance	9	5.0	55.6%	0.0	0.0%	4.0	44.4%	0.0	0.0%	0.0	0.0%	0.0	0.0%	НВО	AP Production Services, Inc.
High School Musical:															
The Musical	10	1.0	10.0%	2.0	20.0%	6.0	60.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	Disney+	Disney/ABC Companies
Hightown	8	4.0	50.0%	2.0	25.0%	2.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Starz	Starz
Hit and Run	8	5.0	62.5%	0.0	0.0%	3.0	37.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Hollywood	7	4.0	57.1% 0.0%	0.0	0.0%	0.0	0.0%	3.0	42.9%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Homecoming Homeland	12	0.0 7.0	58.3%	7.0	8.3%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Amazon Showtime	NBC Universal Disney/ABC Companies
поппетапи	12	7.0	56.5%	1.0	0.3%	4.0	55.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Showtime	Eagle vs Snake
Hot Date	10	10.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	РОР	Productions Inc.
How to Get Away	10	10.0	100.076	0.0	0.070	0.0	0.070	0.0	0.070	0.0	0.070	0.0	0.070		
with Murder	15	6.0	40.0%	3.0	20.0%	1.0	6.7%	5.0	33.3%	0.0	0.0%	0.0	0.0%	ABC	Disney/ABC Companies
Hunters	10	5.0	50.0%	3.0	30.0%	1.0	10.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	Amazon	Amazon
I Know This Much															
ls True	6	6.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
														Youtube	
Impulse	9	1.0	11.1%	1.0	11.1%	5.0	55.6%	1.0	11.1%	1.0	11.1%	0.0	0.0%	Premium	NBC Universal
In the Dark	13	4.0	30.8%	5.0	38.5%	2.0	15.4%	2.0	15.4%	0.0	0.0%	0.0	0.0%	CW	CBS Companies
Indebted	12	2.0	16.7%	9.0	75.0%	1.0	8.3%	0.0	0.0%	0.0	0.0%	0.0	0.0%	NBC	Sony Companies
Insatiable	10	6.0	60.0%	1.0	10.0%	1.0	10.0%	1.0	10.0%	1.0	10.0%	0.0	0.0%	Netflix	CBS Companies
Insecure	10	1.0	10.0%	3.0	30.0%	1.0	10.0%	5.0	50.0%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
														CBS	
Interrogation	10	4.0	40.0%	6.0	60.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	All Access	CBS Companies
It's Always Sunny	10	5.0	F0.0%	1.0	40.0%	0.0	0.0%	1.0	10.00/	0.0	0.0%	0.0	0.0%	EVV	Sunny Television
in Philadelphia Julie and	10	5.0	50.0%	4.0	40.0%	0.0	0.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	FXX	Productions, Inc.
the Phantoms	9	1.0	11.1%	7.0	77.8%	1.0	11.1%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Jupiter's Legacy	8	6.0	75.0%	0.0	0.0%	2.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
		0.0	75.675	0.0	0.070	2.0	23.070	0.0	0.070	0.0	0.070	0.0	0.070	Disney	Kenwood TV
Just Roll With It	22	4.0	18.2%	6.0	27.3%	11.0	50.0%	1.0	4.5%	0.0	0.0%	0.0	0.0%	Channel	Productions, Inc.
Katy Keene	12	3.0	25.0%	4.0	33.3%	5.0	41.7%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CW	Warner Bros Companies
															Showtime Pictures
Kidding	10	6.0	60.0%	0.0	0.0%	4.0	40.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Showtime	Development Company
Kominsky Method, The	8	4.0	50.0%	0.0	0.0%	4.0	50.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Warner Bros Companies
L Word: Generation Q,															Showtime Pictures
The	8	0.0	0.0%	0.0	0.0%	7.0	87.5%	1.0	12.5%	0.0	0.0%	0.0	0.0%	Showtime	Development Company
														Spectrum	
L.A.'s Finest	13	1.0	7.7%	9.0	69.2%	2.0	15.4%	1.0	7.7%	0.0	0.0%	0.0	0.0%	Originals	Sony Companies
Last Man Standing	22	8.0	36.4%	12.0	54.5%	2.0	9.1%	0.0	0.0%	0.0	0.0%	0.0	0.0%	FOX	Disney/ABC Companies
Last O.G., The Law & Order: SVU	10 20	7.0 9.0	70.0% 45.0%	2.0 5.0	20.0% 25.0%	0.0	0.0%	1.0 0.0	10.0% 0.0%	0.0	0.0% 0.0%	0.0	0.0%	TNT NBC	Turner Films, Inc. NBC Universal
Law & Order: SVU	 19	9.0 7.0	36.8%	4.0	25.0%	4.0	30.0% 21.1%	4.0	21.1%	0.0	0.0%	0.0	0.0%	CW	Warner Bros Companies
Legends of Tomorrow	19	6.0	60.0%	2.0	20.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CW	Warner Bros Companies
	10	0.0	00.070	2.0	20.070	2.0	20.070	0.0	0.070	0.0	0.070	0.0	0.070		trainer bros companies
															LuxVide Finanzaria Iniziative
Leonardo	6	6.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	RAI (Italy)	Audiovisive Telematiche S.p.A.
Light as a Feather	16	4.0	25.0%	2.0	12.5%	10.0	62.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Hulu	Viacom Media Networks
Lincoln	9	5.0	55.6%	1.0	11.1%	3.0	33.3%	0.0	0.0%	0.0	0.0%	0.0	0.0%	NBC	NBC Universal
Little America	7	1.0	14.3%	3.0	42.9%	1.0	14.3%	2.0	28.6%	0.0	0.0%	0.0	0.0%	Apple TV+	NBC Universal
Little Fires															
Everywhere	8	2.0	25.0%	0.0	0.0%	4.0	50.0%	2.0	25.0%	0.0	0.0%	0.0	0.0%	Hulu	Disney/ABC Companies
Little Voice	9	2.0	22.2%	0.0	0.0%	7.0	77.8%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Apple TV+	Warner Bros Companies
						• -				• -				Youtube	
Liza On Demand	10	4.5	45.0%	0.0	0.0%	2.5	25.0%	1.0	10.0%	0.0	0.0%	2.0	20.0%	Premium	Sidestreet Entertainment, Inc.
Lizzie McGuire	2	0.0	0.0%	0.0	0.0%	2.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Disney+	Disney/ABC Companies
Locke & Key	10	6.0	60.0%	2.0	20.0%	0.0	0.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix

	١
-	)

					,										
		# Episodes		# Episodes		# Episodes		# Episodes		# Episodes	% Episodes	# Episodes	% Episodes		
Title	# of	Male	% Episodes	Males of	% Episodes	Female	% Episodes	Females of	% Episodes	Male	Male	Female	Female	Network	Studio / Production Co.
	Eps.	Caucasian	Male Caucasian	Color	Males of Color	Caucasian	Female Caucasian	Color	Females of Color	Unknown/	Unknown/	Unknown/	Unknown/		
Lodge 49	10	6.0	60.0%	2.0	20.0%	2.0	20.0%	0.0	0.0%	Unreported 0.0	Unreported 0.0%	Unreported 0.0	Unreported 0.0%	AMC	AMC TV Studios LLC
Louge 45	10	0.0	00.078	2.0	20.078	2.0	20.076	0.0	0.076	0.0	0.078	0.0	0.076	ANIC	Paramount Pictures
Looking for Alaska	8	2.0	25.0%	1.0	12.5%	5.0	62.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Hulu	Corporation
	-														Farmersville Loudermilk
Loudermilk	10	10.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	AT&T Live	Season 3 Inc.
Love Life	10	4.0	40.0%	0.0	0.0%	5.0	50.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	HBO Max	Lions Gate
Love, Victor	10	4.0	40.0%	1.0	10.0%	3.0	30.0%	1.0	10.0%	0.0	0.0%	1.0	10.0%	Hulu	Disney/ABC Companies
Lovecraft Country	9	4.0	44.4%	0.0	0.0%	2.0	22.2%	3.0	33.3%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
Lucifer	16	7.0	43.8%	4.0	25.0%	3.0	18.8%	2.0	12.5%	0.0	0.0%	0.0	0.0%	Netflix	Warner Bros Companies
MacGyver	20	11.0	55.0%	4.0	20.0%	2.0	10.0%	3.0	15.0%	0.0	0.0%	0.0	0.0%		CBS Companies
														Spectrum	
Mad About You	12	0.0	0.0%	3.0	25.0%	5.0	41.7%	4.0	33.3%	0.0	0.0%	0.0	0.0%	Originals	Sony Companies
Madam Secretary	10	4.0	40.0%	4.0	40.0%	1.0	10.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	CBS	CBS Companies
															Paramount Pictures
Made for Love	8	0.0	0.0%	0.0	0.0%	8.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	HBO Max	Corporation
Magicians, The	13	7.0	53.8%	1.0	7.7%	3.0	23.1%	2.0	15.4%	0.0	0.0%	0.0	0.0%	Syfy	NBC Universal
Magnum P.I.	20	10.0	50.0%	5.0	25.0%	5.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%		CBS Companies
Man with a Plan Mandalorian, The	13 8	12.0 4.0	92.3% 50.0%	0.0 3.0	0.0% 37.5%	1.0	7.7%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CBS Disney+	CBS Companies Disney/ABC Companies
Manhunt:	0	4.0	50.0%	5.0	37.5%	1.0	12.570	0.0	0.0%	0.0	0.0%	0.0	0.0%	Spectrum	
Deadly Games	10	8.0	80.0%	0.0	0.0%	0.0	0.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Originals	Lions Gate
Manifest	13	7.0	53.8%	1.0	7.7%	3.0	23.1%	2.0	15.4%	0.0	0.0%	0.0	0.0%	NBC	Warner Bros Companies
Mare of Easttown	7	7.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
	,	7.0	100.070	0.0	0.070	0.0	0.070	0.0	0.070	0.0	0.070	0.0	0.070		
Marvelous Mrs. Maisel,															
The	8	4.0	50.0%	0.0	0.0%	4.0	50.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Amazon	Amazon
Marvel's Agents					0.075										
of S.H.I.E.L.D.	13	5.0	38.5%	4.0	30.8%	3.0	23.1%	0.0	0.0%	1.0	7.7%	0.0	0.0%	ABC	Disney/ABC Companies
Marvel's Helstrom	10	5.0	50.0%	1.0	10.0%	4.0	40.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%		Disney/ABC Companies
Marvel's Runaways	10	3.0	30.0%	2.0	20.0%	2.0	20.0%	1.0	10.0%	1.0	10.0%	1.0	10.0%	Hulu	Disney/ABC Companies
Mayans M.C.	10	5.0	50.0%	2.0	20.0%	2.0	20.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	FX	Disney/ABC Companies
Medical Police	10	10.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Abominable Pictures, Inc.
Merry Happy Whatever	8	0.0	0.0%	2.0	25.0%	5.0	62.5% 52.6%	1.0	12.5% 5.3%	0.0	0.0% 0.0%	0.0	0.0%	Netflix	Netflix
Million Little Things, A Miracle Workers	19 10	5.0 8.0	80.0%	3.0 0.0	15.8% 0.0%	10.0 2.0	20.0%	1.0	0.0%	0.0	0.0%	0.0	0.0%	ABC TBS	Disney/ABC Companies Turner Films, Inc.
Mixed-ish	22	6.0	27.3%	7.0	31.8%	4.0	18.2%	3.0	13.6%	0.0	0.0%	2.0	9.1%	ABC	Disney/ABC Companies
Modern Family	18	8.0	44.4%	1.0	5.6%	6.0	33.3%	1.0	5.6%	2.0	11.1%	0.0	0.0%	ABC	Disney/ABC Companies
Mom	20	18.0	90.0%	0.0	0.0%	1.0	5.0%	1.0	5.0%	0.0	0.0%	0.0	0.0%	CBS	Warner Bros Companies
		1010	001070	0.0	0.070			1.0	0.070		0.070		0.070	Urban Movie	
Monogamy	6	0.0	0.0%	6.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%		Asiatic Incorporated
Monsterland	8	5.0	62.5%	0.0	0.0%	3.0	37.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%		Daylight Daycare, LLC
Moodys, The	6	6.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%		CBS Companies
Mosquito Coast	6	4.0	66.7%	0.0	0.0%	0.0	0.0%	2.0	33.3%	0.0	0.0%	0.0	0.0%	Apple TV+	Fremantle Productions, Inc.
Motherland	6	3.0	50.0%	1.0	16.7%	1.0	16.7%	0.0	0.0%	0.0	0.0%	1.0	16.7%	Freeform	Disney/ABC Companies
Mr. Iglesias	12	5.0	41.7%	3.0	25.0%	4.0	33.3%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
															Mr Inbetween
Mr. Inbetween	10	10.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	FX	Holdings Pty Ltd
			Ι Τ		Ι Τ		1 T		7					Audience	
Mr. Mercedes	10	9.0	90.0%	0.0	0.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Network	Sonar Entertainment, LLC
Mr. Robot	13	13.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	USA Network	NBC Universal
Mrs. Fletcher	6	0.0	0.0%	0.0	0.0%	4.0	66.7%	2.0	33.3%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
Nancy Drew	19	2.0	10.5%	6.0	31.6%	6.0	31.6%	3.0	15.8%	2.0	10.5%	0.0	0.0%	CW	CBS Companies
NCIS	20	13.0	65.0%	4.0	20.0%	3.0	15.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CBS	CBS Companies
NCIS: Los Angeles	20	13.0	65.0%	2.0	10.0%	1.0	5.0%	4.0	20.0%	0.0	0.0%	0.0	0.0%		CBS Companies
NCIS: New Orleans	22	10.0	45.5%	6.0	27.3%	6.0	27.3%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CBS	CBS Companies
Neighborhood, The	22	14.0	63.6%	6.0	27.3%	1.0	4.5%	1.0	4.5%	0.0	0.0%	0.0	0.0%		CBS Companies
Never Have I Ever	10 6	4.0 5.0	40.0% 83.3%	2.0	20.0% 0.0%	0.0	0.0%	4.0	40.0% 16.7%	0.0	0.0%	0.0	0.0%	Netflix HBO	NBC Universal Home Box Office, Inc.
Nevers, The New Amsterdam	6 19	9.0	47.4%	4.0	21.1%	0.0 3.0	0.0%	2.0	16.7%	1.0	5.3%	0.0	0.0%	NBC	NBC Universal
Next	9	9.0	77.8%	4.0	11.1%	3.0	15.8%	0.0	0.0%	0.0	0.0%	0.0	0.0%		Disney/ABC Companies
	9	7.0	//.0/0	1.0	11.1/0	1.0	11.1/0	0.0	0.070	0.0	0.070	0.0	0.076	CBS	
No Activity	8	8.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%		CBS Companies
NOS4A2	10	4.0	40.0%	0.0	0.0%	2.0	20.0%	2.0	20.0%	2.0	20.0%	0.0	0.0%		AMC TV Studios LLC
	10	7.0	40.070	0.0	0.070	2.0	20.070	2.0	20.070	2.0	20.070	0.0	0.070	7.000	

						_			кероп (вт 5ном п	,					
		# Episodes		# Episodes		# Episodes		# Episodes		# Episodes	% Episodes	# Episodes	% Episodes		
Title	# of	Male	% Episodes	Males of	% Episodes	Female	% Episodes	Females of	% Episodes	Male	Male	Female	Female	Network	Studio / Production Co.
intic interview.	Eps.	Caucasian	Male Caucasian	Color	Males of Color	Caucasian	Female Caucasian	Color	Females of Color	Unknown/	Unknown/	Unknown/	Unknown/	Network 1	
	10		50.00/		20.0%		0.0%		20.0%	Unreported	Unreported	Unreported	Unreported	EV.	
Old Man, The	10	5.0	50.0% 12.5%	2.0	20.0%	0.0 5.0	0.0%	3.0 0.0	30.0% 0.0%	0.0	0.0%	0.0	0.0%	FX Netflix	Disney/ABC Companies Netflix
On My Block	8	1.0	12.5%	2.0	25.0%	5.0	02.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netnix	The Order S2 BC
Order, The	1	1.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Productions Inc.
Orville, The	6	6.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Hulu	Disney/ABC Companies
Outer Banks	10	6.0	60.0%	0.0	0.0%	4.0	40.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Outlander	2	0.0	0.0%	0.0	0.0%	0.0	0.0%	2.0	100.0%	0.0	0.0%	0.0	0.0%	Starz	Sony Companies
Outmatched	9	3.0	33.3%	2.0	22.2%	4.0	44.4%	0.0	0.0%	0.0	0.0%	0.0	0.0%	FOX	Disney/ABC Companies
Outpost, The	7	6.0	85.7%	1.0	14.3%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CW	Outpost TV LLC
Outsider, The	10	6.0	60.0%	1.0	10.0%	2.0	20.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	НВО	MRC II Holdings, L.P.
Ozark	10	6.0	60.0%	1.0	10.0%	3.0	30.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	MRC II Holdings, L.P.
Panic	10	2.0	20.0%	2.0	20.0%	4.0	40.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Amazon	Amazon
	10		40.00/		0.00/		10.00/	2.0	20.00/		0.00/		0.00/	Paramount	Paramount Pictures
Paradise Lost	10	4.0	40.0%	0.0	0.0%	4.0	40.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Network	Corporation
Party of Five	9 3	2.0 0.0	22.2% 0.0%	0.0	33.3% 0.0%	0.0 3.0	0.0%	4.0	44.4% 0.0%	0.0	0.0%	0.0	0.0%	Freeform	Sony Companies HLK Visions, Inc.
Passenger, The Pen15	3 14	9.0	64.3%	3.0	21.4%	<u> </u>	7.1%	1.0	7.1%	0.0	0.0%	0.0	0.0%	Hulu	Viacom Media Networks
Penny Dreadful:	14	3.0	04.370	5.0	21.4/0	1.0	/.1/0	1.0	/.1/0	0.0	0.070	0.0	0.070		Showtime Pictures
City of Angels	10	6.0	60.0%	0.0	0.0%	2.0	20.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Showtime	Development Company
Pennyworth	6	5.0	83.3%	0.0	0.0%	1.0	16.7%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Epix	Warner Bros Companies
Perfect Harmony	12	8.0	66.7%	1.0	8.3%	2.0	16.7%	0.0	0.0%	0.0	0.0%	1.0	8.3%	NBC	Disney/ABC Companies
Perry Mason	8	5.0	62.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	3.0	37.5%	НВО	Home Box Office, Inc.
Platform	1	1.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	FX	Disney/ABC Companies
Plot Against America,															
The	6	3.0	50.0%	0.0	0.0%	3.0	50.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
Politician, The	7	3.0	42.9%	0.0	0.0%	3.0	42.9%	1.0	14.3%	0.0	0.0%	0.0	0.0%	Netflix	Disney/ABC Companies
Pose	10	1.0	10.0%	1.0	10.0%	4.0	40.0%	4.0	40.0%	0.0	0.0%	0.0	0.0%	FX	Disney/ABC Companies
Power Book II: Ghost	10	2.0	20.0%	5.0	50.0%	1.0	10.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Starz	Lions Gate
Preacher Bredisel Con	10	7.0	70.0%	2.0	20.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	AMC	Sony Companies
Prodigal Son Professionals, The	20 3	9.0 0.0	45.0% 0.0%	5.0 3.0	25.0% 100.0%	4.0	20.0% 0.0%	1.0 0.0	5.0% 0.0%	1.0 0.0	5.0% 0.0%	0.0	0.0%	FOX	Warner Bros Companies Most Media SIA
	5	0.0	0.078	5.0	100.078	0.0	0.076	0.0	0.078	0.0	0.076	0.0	0.076	History	
Project Blue Book	6	4.0	66.7%	0.0	0.0%	2.0	33.3%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Channel	A+E Studios, LLC
Pump	6	0.0	0.0%	6.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Urbanflix	HLK Visions, Inc.
Purge, The	10	4.0	40.0%	2.0	20.0%	3.0	30.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	USA Network	BH Purge 2, LLC
P-Valley	8	0.0	0.0%	0.0	0.0%	3.0	37.5%	4.0	50.0%	0.0	0.0%	1.0	12.5%	Starz	Starz
Queen of the South	13	0.0	0.0%	8.0	61.5%	3.0	23.1%	2.0	15.4%	0.0	0.0%	0.0	0.0%	USA Network	Disney/ABC Companies
Queen Sugar	13	0.0	0.0%	0.0	0.0%	2.0	15.4%	10.0	76.9%	0.0	0.0%	1.0	7.7%	OWN	Warner Bros Companies
Queen's Gambit, The	7	7.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Raised by Wolves	8	5.0	62.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	3.0	37.5%	0.0	0.0%	TNT	Scott Free Productions, Inc.
Ramy	10	7.0	70.0%	0.0	0.0%	3.0	30.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Hulu	A24 Films LLC
Ratched	8	5.0	62.5%	1.0	12.5%	1.0	12.5%	1.0	12.5%	0.0	0.0%	0.0	0.0%	Netflix	Disney/ABC Companies
Raven's Home	18	4.0	22.2%	3.0	16.7%	6.0	33.3%	3.0	16.7%	0.0	0.0%	2.0	11.1%	Disney Channel	Disney/ABC Companies
Advents home	10	4.0	22.270	5.0	10.770	0.0	33.370	5.0	10.770	0.0	0.070	2.0	11.1/0	channel	Showtime Pictures
Ray Donovan	10	8.0	80.0%	1.0	10.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Showtime	Development Company
Ray James	10	6.0	60.0%	0.0	0.0%	4.0	40.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Apple TV+	Ceteri Productions, LLC
Reef Break	2	2.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	ABC	Disney/ABC Companies
Reprisal	9	4.0	44.4%	0.0	0.0%	4.0	44.4%	1.0	11.1%	0.0	0.0%	0.0	0.0%	Hulu	A+E Studios, LLC
Resident Alien	9	3.0	33.3%	2.0	22.2%	2.0	22.2%	2.0	22.2%	0.0	0.0%	0.0	0.0%	Syfy	NBC Universal
Resident, The	21	9.0	42.9%	4.0	19.0%	4.0	19.0%	2.0	9.5%	1.0	4.8%	1.0	4.8%	FOX	Disney/ABC Companies
														National	
														Geographic	
Right Stuff, The	8	7.0	87.5%	0.0	0.0%	1.0	12.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Channel	Warner Bros Companies
Diabta aug Caurai															
Righteous Gemstones,	0	8.0	100.00/	0.0	0.00/	0.0	0.00/	0.0	0.00/	0.0	0.00/	0.0	0.00/		Homo Day Office Inc
The Riverdale	8 17	8.0 2.0	100.0%	0.0	0.0%	0.0 9.0	0.0%	0.0	0.0% 5.9%	0.0	0.0%	0.0	0.0%	HBO CW	Home Box Office, Inc. Warner Bros Companies
Niveruale	1/	2.0	11.8%	5.0	23.4%	9.0	52.9%	1.0	5.9%	0.0	0.0%	0.0	0.0%	Comedy	
Robbie	7	1.0	14.3%	4.0	57.1%	0.0	0.0%	2.0	28.6%	0.0	0.0%	0.0	0.0%	Central	Viacom Media Networks
Rookie, The	20	6.0	30.0%	5.0	25.0%	6.0	30.0%	1.0	5.0%	1.0	5.0%	1.0	5.0%	ABC	Deluxe Pictures
Room 104	12	4.0	33.3%	1.0	8.3%	4.0	33.3%	3.0	25.0%	0.0	0.0%	0.0	0.0%	НВО	One Oh Four, LLC
Roswell, New Mexico	13	5.0	38.5%	2.0	15.4%	3.0	23.1%	3.0	23.1%	0.0	0.0%	0.0	0.0%	CW	Warner Bros Companies
,															

	١
-	)

		# Episodes		# Episodes		# Episodes		# Episodes		# Episodes	% Episodes	# Episodes	% Episodes		
Title	# of	Male	% Episodes Male Caucasian	Males of	% Episodes Males of Color	Female	% Episodes	Females of	% Episodes Females of Color	Male	Male	Female Unknown/	Female Unknown/	Network	Studio / Production Co.
	Eps.	Caucasian	Iviale Caucasian	Color	wales of Color	Caucasian	Female Caucasian	Color	remaies of Color	Unknown/ Unreported	Unknown/ Unreported	Unreported	Unreported		
										onreported	onreported	onreported	onreported		Entertainment One
Run	5	0.0	0.0%	2.0	40.0%	3.0	60.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	нво	Television USA Inc.
Ruthless	24	0.0	0.0%	24.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	BET+	And Action LLC
Ryan's Mystery															
Playdate	40	40.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Nickelodeon	Hour Hand Productions, LLC
S.W.A.T.	21	11.0	52.4%	6.0	28.6%	2.0	9.5%	2.0	9.5%	0.0	0.0%	0.0	0.0%	CBS	Sony Companies
Schooled	21	10.0	47.6%	3.0	14.3%	8.0	38.1%	0.0	0.0%	0.0	0.0%	0.0	0.0%	ABC	Sony Companies
SEAL Team Search Party	20 10	9.0 5.5	45.0% 55.0%	7.0	35.0% 0.0%	4.0	20.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CBS HBO Max	CBS Companies Imagine Entertainment
Self Made:	10	5.5	55.0%	0.0	0.0%	5.5	55.0%	0.0	0.0%	0.0	0.0%	1.0	10.0%		
nspired by the Life															
of Madam C.J. Walker	4	0.0	0.0%	0.0	0.0%	0.0	0.0%	4.0	100.0%	0.0	0.0%	0.0	0.0%	Netflix	Warner Bros Companies
Shadow and Bone	8	4.0	50.0%	2.0	25.0%	2.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Shameless	12	5.0	41.7%	1.0	8.3%	5.0	41.7%	1.0	8.3%	0.0	0.0%	0.0	0.0%	Showtime	Warner Bros Companies
															Paramount Pictures
Shantaram	5	5.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Apple TV+	Corporation
Shrill	8	0.0	0.0%	4.0	50.0%	3.0	37.5%	0.0	0.0%	0.0	0.0%	1.0	12.5%	Hulu	Warner Bros Companies
Silicon Valley	7	4.0	57.1%	1.0	14.3%	2.0	28.6%	0.0	0.0%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
11. com	<u> </u>	6.0	75.00/	0.0	0.00/	2.0	25.00/	0.0	0.001	0.0	0.004	0.0	0.001	Ch au thur	Showtime Pictures
Silver	8	6.0	75.0%	0.0	0.0%	2.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Showtime	Development Company
Single Parents Sinner, The	22 8	10.0 6.0	45.5% 75.0%	1.0	4.5% 12.5%	7.0	31.8% 12.5%	1.0	4.5% 0.0%	1.0 0.0	4.5% 0.0%	2.0 0.0	9.1% 0.0%	ABC USA Network	Disney/ABC Companies NBC Universal
Siren	10	3.0	30.0%	3.0	30.0%	3.0	30.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	Freeform	Disney/ABC Companies
Snowfall	10	3.0	30.0%	4.0	40.0%	2.0	20.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	FX	Disney/ABC Companies
Snowpiercer	8	2.0	25.0%	0.0	0.0%	4.0	50.0%	2.0	25.0%	0.0	0.0%	0.0	0.0%	TNT	Tomorrow ITV Studios LLC
Soundtrack	9	5.0	55.6%	2.0	22.2%	0.0	0.0%	2.0	22.2%	0.0	0.0%	0.0	0.0%	Netflix	Disney/ABC Companies
Space Force	10	6.0	60.0%	0.0	0.0%	2.0	20.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Spinning Out	8	6.0	75.0%	0.0	0.0%	2.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
														CBS	
Stand, The	9	7.0	77.8%	0.0	0.0%	2.0	22.2%	0.0	0.0%	0.0	0.0%	0.0	0.0%	All Access	CBS Companies
	12	5.0	44 70/	4.0	22.2%	2.0	4.6.70/	1.0	0.2%		0.00/		0.00/	CBS	
Star Trek: Discovery	12	5.0	41.7%	4.0	33.3%	2.0	16.7%	1.0	8.3%	0.0	0.0%	0.0	0.0%	All Access	CBS Companies
Star Trek: Picard	11	6.0	54.5%	0.0	0.0%	2.0	18.2%	3.0	27.3%	0.0	0.0%	0.0	0.0%	CBS All Access	CBS Companies
Stargirl	11	6.0	46.2%	2.0	15.4%	3.0	23.1%	1.0	7.7%	1.0	7.7%	0.0	0.0%	DC Universe	Warner Bros Companies
Station 19	16	4.0	25.0%	7.0	43.8%	2.0	12.5%	3.0	18.8%	0.0	0.0%	0.0	0.0%	ABC	Disney/ABC Companies
			2010/0	,	1010/0	2.0		0.0	201070	0.0	01070	0.0		CBS	
Strange Angel	8	3.0	37.5%	1.0	12.5%	3.0	37.5%	1.0	12.5%	0.0	0.0%	0.0	0.0%	All Access	CBS Companies
Stumptown	17	11.0	64.7%	1.0	5.9%	3.0	17.6%	2.0	11.8%	0.0	0.0%	0.0	0.0%	ABC	Disney/ABC Companies
Succession	10	5.5	55.0%	3.0	30.0%	1.5	15.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
Suits	10	8.0	80.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	1.0	10.0%	0.0	0.0%		NBC Universal
Sunnyside	10	2.0	20.0%	3.0	30.0%	2.0	20.0%	3.0	30.0%	0.0	0.0%	0.0	0.0%	NBC	NBC Universal
Supergirl	19	8.0	42.1%	5.0	26.3%	6.0	31.6%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CW	Warner Bros Companies
Supernatural	17 21	12.0 10.0	70.6%	4.0	23.5% 14.3%	0.0	0.0%	1.0 3.0	5.9% 14.3%	0.0	0.0%	0.0	0.0%	CW NBC	Warner Bros Companies NBC Universal
Superstore Sweet Magnolias	10	6.0	60.0%	0.0	0.0%	4.0	40.0%	0.0	0.0%	0.0	0.0%	1.0 0.0	0.0%	Netflix	Netflix
weet magnonas	10	0.0	00.070	0.0	0.070	4.0	40.070	0.0	0.070	0.0	0.070	0.0	0.076	Disney	
Sydney to the Max	21	7.0	33.3%	4.0	19.0%	7.0	33.3%	2.0	9.5%	0.0	0.0%	1.0	4.8%	Channel	Disney/ABC Companies
Facoma FD	13	5.0	38.5%	4.0	30.8%	4.0	30.8%	0.0	0.0%	0.0	0.0%	0.0	0.0%	truTV	Silverscreen Pictures, Inc.
Tag Team	6	0.0	0.0%	0.0	0.0%	6.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Disney+	Disney/ABC Companies
Tales From the Loop	8	4.0	50.0%	1.0	12.5%	2.0	25.0%	1.0	12.5%	0.0	0.0%	0.0	0.0%	Amazon	Disney/ABC Companies
Feacher, A	10	2.0	20.0%	0.0	0.0%	8.0	80.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	FX	Disney/ABC Companies
Feam Kaylie	20	9.0	45.0%	5.0	25.0%	3.0	15.0%	3.0	15.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Ted Lasso	3	1.0	33.3%	0.0	0.0%	2.0	66.7%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Apple TV+	Warner Bros Companies
leenage					20.05/				10.051		0.001		0.051		
Bounty Hunters	10	4.0	40.0%	2.0	20.0%	3.0	30.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Cell Me A Story	10	E O	50.0%	3.0	30.0%	1.0	10.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	CBS All Access	Kanital Entortainment, U.C.
Tell Me A Story	10 10	5.0 5.0	50.0%	3.0	30.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	1.0	10.0%	All Access Amazon	Kapital Entertainment, LLC Sony Companies
This Is Us	10	9.0	50.0%	3.0	16.7%	4.0	22.2%	2.0	11.1%	0.0	0.0%	0.0	0.0%	NBC	Disney/ABC Companies
	4	0.0	0.0%	2.0	50.0%	2.0	50.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
inv Pretty Things		0.0	3.375		23.070										
Tiny Pretty Things	12	3.0	25.0%	4.0	33.3%	3.0	25.0%	1.0	8.3%	1.0	8.3%	0.0	0.0%	DC Universe	Warner Bros Companies

	١
-	)

						_		Director inclusion r		,					
		u estas das		u mata a da a		u mata a da a		u mata da s		# Episodes	% Episodes	# Episodes	% Episodes		
	# of	# Episodes	% Episodes	# Episodes	% Episodes	# Episodes	% Episodes	# Episodes	% Episodes	Male	Male	Female	Female		
Title	Eps.	Male	Male Caucasian	Males of	Males of Color	Female	Female Caucasian	Females of	Females of Color	Unknown/	Unknown/	Unknown/	Unknown/	Network	Studio / Production Co.
		Caucasian		Color		Caucasian		Color		Unreported	Unreported	Unreported	Unreported		
Treadstone	10	6.0	60.0%	2.0	20.0%	0.0	0.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	USA Network	NBC Universal
Trinkets	10	2.0	20.0%	2.0	20.0%	4.0	40.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Netflix	Viacom Media Networks
Twenties	7	0.0	0.0%	5.0	71.4%	0.0	0.0%	2.0	28.6%	0.0	0.0%	0.0	0.0%	BET	Twenties Productions, LLC
														CBS	
Twilight Zone, The	10	4.0	40.0%	2.0	20.0%	2.0	20.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	All Access	CBS Companies
Tyler Perry's "Bruh"	24	0.0	0.0%	24.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	BET+	And Action LLC
Tyler Perry's															
Assisted Living	25	0.0	0.0%	25.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	BET	And Action LLC
Tyler Perry's															
House Of Payne	25	0.0	0.0%	25.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	BET	And Action LLC
Tyler Perry's Sistas	25	0.0	0.0%	25.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	BET	And Action LLC
Tyler Perry's															
The Haves															
and the Have Nots	16	0.0	0.0%	16.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	OWN	And Action LLC
Tyler Perry's															
The Oval	25	0.0	0.0%	25.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	BET	And Action LLC
Umbrella Academy, The	10	5.0	50.0%	1.0	10.0%	4.0	40.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	NBC Universal
Underground Railroad,															
The	9	0.0	0.0%	9.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Amazon	Amazon
Undoing, The	6	0.0	0.0%	0.0	0.0%	6.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
Unicorn, The	17	12.0	70.6%	4.0	23.5%	1.0	5.9%	0.0	0.0%	0.0	0.0%	0.0	0.0%	CBS	CBS Companies
United We Fall	7	5.0	71.4%	1.0	14.3%	0.0	0.0%	1.0	14.3%	0.0	0.0%	0.0	0.0%	ABC	Sony Companies
Unrelated	1	1.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Freeform	Disney/ABC Companies
Untitled Bridgerton															
Series,															
The	6	2.0	33.3%	2.0	33.3%	2.0	33.3%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Upload	9	5.0	55.6%	0.0	0.0%	4.0	44.4%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Amazon	Amazon
Utopia	8	4.0	50.0%	1.0	12.5%	3.0	37.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Amazon	Amazon
Vida	6	0.0	0.0%	0.0	0.0%	0.0	0.0%	6.0	100.0%	0.0	0.0%	0.0	0.0%	Starz	Starz
Virgin River	2 22	2.0	100.0% 59.1%	0.0	0.0%	0.0 7.0	0.0% 31.8%	0.0	0.0% 0.0%	0.0	0.0%	0.0	0.0%	Netflix AMC	Netflix AMC TV Studios LLC
Walking Dead, The Walking Dead, The:	22	13.0	59.1%	2.0	9.1%	7.0	51.8%	0.0	0.0%	0.0	0.0%	0.0	0.0%	AIVIC	
World Beyond	10	5.0	50.0%	2.0	20.0%	2.0	20.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	AMC	AMC TV Studios LLC
WandaVision	9	9.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Disney+	Disney/ABC Companies
Warrior	7	5.0	71.4%	2.0	28.6%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Cinemax	Home Box Office, Inc.
Warrior Nun	2	0.0	0.0%	0.0	0.0%	0.0	0.0%	2.0	100.0%	0.0	0.0%	0.0	0.0%	Netflix	Netflix
Westworld	8	3.0	37.5%	0.0	0.0%	5.0	62.5%	0.0	0.0%	0.0	0.0%	0.0	0.0%	НВО	Home Box Office, Inc.
What We Do in the	0	5.0	37.370	0.0	0.070	5.0	02.370	0.0	0.070	0.0	0.070	0.0	0.070		
Shadows	10	7.0	70.0%	0.0	0.0%	3.0	30.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	FX	Disney/ABC Companies
Wheel of Time	8	2.0	25.0%	2.0	25.0%	2.0	25.0%	2.0	25.0%	0.0	0.0%	0.0	0.0%	Amazon	Sony Companies
						2.0					0.070		0.075	CBS	
Why Women Kill	10	4.0	40.0%	2.0	20.0%	2.0	20.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	All Access	CBS Companies
Wilds, The	8	3.0	37.5%	0.0	0.0%	3.0	37.5%	1.0	12.5%	0.0	0.0%	1.0	12.5%	Amazon	Disney/ABC Companies
Will & Grace	18	18.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	NBC	NBC Universal
Work in Progress	8	8.0	100.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Showtime	Imagine Entertainment
Wu-Tang: An American															
Saga	10	3.0	30.0%	4.0	40.0%	2.0	20.0%	1.0	10.0%	0.0	0.0%	0.0	0.0%	Hulu	Imagine Entertainment
														Paramount	
Yellowstone	10	8.0	80.0%	0.0	0.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Network	Fire and Ice Productions, Inc.
YOU	10	1.0	10.0%	2.0	20.0%	5.0	50.0%	2.0	20.0%	0.0	0.0%	0.0	0.0%	Netflix	Warner Bros Companies
Young Dylan	14	0.0	0.0%	3.0	21.4%	0.0	0.0%	11.0	78.6%	0.0	0.0%	0.0	0.0%	Nickelodeon	And Action LLC
Young Sheldon	22	10.0	45.5%	9.0	40.9%	3.0	13.6%	0.0	0.0%	0.0	0.0%	0.0		CBS	Warner Bros Companies
Younger	12	7.0	58.3%	2.0	16.7%	3.0	25.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	TV Land	Imagine Entertainment
Your Honor	10	4.0	40.0%	3.0	30.0%	3.0	30.0%	0.0	0.0%	0.0	0.0%	0.0	0.0%	Showtime	CBS Companies
Zoey's Extraordinary															
Playlist	11	7.0	63.6%	1.0	9.1%	1.0	9.1%	2.0	18.2%	0.0	0.0%	0.0	0.0%	NBC	Lions Gate

	١
-	)